
Παραδείγματα: Αόριστα Ολοκληρώματα 

 

 

Άσκηση 1 

∫(5𝑥4 − 3𝑥3 +
1

𝑥
− 2)𝑑𝑥 

Λύση: 

∫(5𝑥4 − 3𝑥3 +
1

𝑥
− 2)𝑑𝑥 = ∫ 5𝑥4 𝑑𝑥 − ∫ 3𝑥3 𝑑𝑥 + ∫

1

𝑥
𝑑𝑥 − ∫ 2 𝑑𝑥 = 𝑥5 −

3

4
𝑥4 + ln|𝑥| − 2𝑥 + 𝐶 

 

 

Άσκηση 2 

∫ (
1

√𝑥
3 − √𝑥) 𝑑𝑥 

Λύση: 

∫ (
1

√𝑥
3 − √𝑥) 𝑑𝑥 = ∫

1

√𝑥
3 𝑑𝑥 − ∫ √𝑥𝑑𝑥 = ∫ 𝑥−

1
3𝑑𝑥 − ∫ 𝑥

1
2 𝑑𝑥 =

3

2
𝑥

2
3 −

2

3
𝑥

3
2 + 𝑐

=
3√𝑥23

2
−

2√𝑥32

3
+ 𝐶 

 

 

Άσκηση 3 

∫
5𝑥4 + 6𝑥2 − 3

𝑥2
𝑑𝑥 

Λύση: 

∫
5𝑥4 + 6𝑥2 − 3

𝑥2
𝑑𝑥 = ∫

5𝑥4

𝑥2
𝑑𝑥 + ∫

6𝑥2

𝑥2
𝑑𝑥 − ∫

3

𝑥2
𝑑𝑥 = ∫ 5𝑥2𝑑𝑥 + ∫ 6𝑑𝑥 − ∫ 3𝑥−2𝑑𝑥

=
5𝑥3

3
+ 6𝑥 +

3

𝑥
+ 𝐶 

 

 

 

  



Άσκηση 4 

∫ 3(3𝑥 + 1)4𝑑𝑥 

Λύση: 

Θέτουμε: 

𝑢 = 3𝑥 + 1                                   (1) 

Άρα  

𝑑𝑢 = 3𝑑𝑥                 (2) 

 

Από (1) και (2) ισχύει ότι: 

∫ 3(3𝑥 + 1)4𝑑𝑥 = ∫ 𝑢4𝑑𝑢 =
𝑢5

5
+ 𝐶 =

(3𝑥 + 1)5

5
+ 𝐶 

 

 

Άσκηση 5 

∫ 2𝑥𝑐𝑜𝑠𝑥2𝑑𝑥 

Λύση: 

Θέτουμε: 

𝑢 = 𝑥2                                          (1) 

Άρα  

𝑑𝑢 = 2𝑥 𝑑𝑥           (2) 

 

Από (1) και (2) ισχύει ότι: 

∫ 2𝑥𝑐𝑜𝑠𝑥2𝑑𝑥 = ∫ 𝑐𝑜𝑠 𝑢 𝑑𝑢 = sin 𝑢 + 𝐶 = sin 𝑥2 + 𝐶 

 

 

 

 

 



Άσκηση 6 

∫ 𝑥3(𝑥4 − 3)7𝑑𝑥 

Λύση: 

Θέτουμε: 

𝑢 = 𝑥4 − 3                                  (1) 

Άρα  

𝑑𝑢 = 4𝑥3𝑑𝑥 ⇔ 𝑥3𝑑𝑥 =
1

4
𝑑𝑢               (2) 

 

Από (1) και (2) ισχύει ότι: 

∫ 𝑥3(𝑥4 − 3)7𝑑𝑥 = ∫
1

4
𝑢7𝑑𝑢 =

1

4

𝑢8

8
+ 𝐶 =

(𝑥4 − 3)8

32
+ 𝐶 

 

 

Άσκηση 7 

∫
𝑥

√𝑥 − 1
𝑑𝑥 

Λύση: 

Θέτουμε: 

𝑢 = 𝑥 − 1 ⇔ 𝑥 = 𝑢 + 1        (1) 

Άρα  

𝑑𝑢 = 𝑑𝑥                 (2) 

 

Από (1) και (2) ισχύει ότι: 

∫
𝑥

√𝑥 − 1
𝑑𝑥 = ∫

𝑢 + 1

√𝑢
𝑑𝑢 = ∫ (

𝑢

√𝑢
+

1

√𝑢
) 𝑑𝑢 = ∫ (𝑢 ∙ 𝑢−

1
2 + 𝑢−

1
2) 𝑑𝑢 = ∫ (𝑢

1
2 + 𝑢−

1
2) 𝑑𝑢

=
2

3
𝑢3/2 +

1

2
𝑢1/2 + 𝐶 =

2

3
(𝑥 − 1)3/2 +

1

2
(𝑥 − 1)1/2 + 𝐶 

 

 

 



Άσκηση 8 

∫ 𝑥2𝑒𝑥 𝑑𝑥 

Λύση: 

∫ 𝑥2𝑒𝑥 𝑑𝑥 = ∫ 𝑥2(𝑒𝑥)΄ 𝑑𝑥 = 𝑥2𝑒𝑥 − ∫(𝑥2)΄𝑒𝑥 𝑑𝑥 = 𝑥2𝑒𝑥 − ∫ 2𝑥𝑒𝑥 𝑑𝑥 = 𝑥2𝑒𝑥 − 2 ∫ 𝑥(𝑒𝑥)΄ 𝑑𝑥

= 𝑥2𝑒𝑥 − 2𝑥𝑒𝑥 + 2 ∫(𝑥)΄𝑒𝑥 𝑑𝑥 = 𝑥2𝑒𝑥 − 2𝑥𝑒𝑥 + 2 ∫ 𝑒𝑥 𝑑𝑥

= 𝑥2𝑒𝑥 − 2𝑥𝑒𝑥 + 2𝑒𝑥 + 𝐶 

 

Άσκηση 9 

∫ 𝑥2𝑠𝑖𝑛𝑥 𝑑𝑥 

Λύση: 

∫ 𝑥2𝑠𝑖𝑛𝑥 𝑑𝑥 = ∫ 𝑥2(−𝑐𝑜𝑠𝑥)΄ 𝑑𝑥 = −𝑥2𝑐𝑜𝑠𝑥 + ∫(𝑥2)΄𝑐𝑜𝑠𝑥 𝑑𝑥 = −𝑥2𝑐𝑜𝑠𝑥 + ∫ 2𝑥 𝑐𝑜𝑠𝑥 𝑑𝑥

= −𝑥2𝑐𝑜𝑠𝑥 + 2 ∫ 𝑥 (𝑠𝑖𝑛𝑥)΄ 𝑑𝑥 = −𝑥2𝑐𝑜𝑠𝑥 + 2𝑥𝑠𝑖𝑛𝑥 − 2 ∫(𝑥)΄ 𝑠𝑖𝑛𝑥 𝑑𝑥

= −𝑥2𝑐𝑜𝑠𝑥 + 2𝑥𝑠𝑖𝑛𝑥 − 2 ∫  𝑠𝑖𝑛𝑥 𝑑𝑥 = −𝑥2𝑐𝑜𝑠𝑥 + 2𝑥𝑠𝑖𝑛𝑥 + 2𝑐𝑜𝑠𝑥 + 𝐶 

 

 

Άσκηση 10 

∫ 𝑥2ln |𝑥| 𝑑𝑥 

Λύση: 

∫ 𝑥2ln |𝑥| 𝑑𝑥 = ∫ (
𝑥3

3
) ΄ln |𝑥| 𝑑𝑥 =

𝑥3

3
ln |𝑥| − ∫

𝑥3

3
(ln|𝑥|)΄ 𝑑𝑥 =

𝑥3

3
𝑙𝑛𝑥 − ∫

𝑥3

3

1

𝑥
 𝑑𝑥

=
𝑥3

3
ln |𝑥| −

1

3
∫ 𝑥2 𝑑𝑥 =

𝑥3

3
ln |𝑥| −

1

3

𝑥3

3
+ 𝐶 =

𝑥3

3
(ln |𝑥| −

1

3
) + 𝐶 

 

 

 

 

 



Άσκηση 11 

∫
𝑥2 − 3𝑥 + 2

𝑥 + 1
 𝑑𝑥 

Λύση: 

∫
𝑥2 − 3𝑥 + 2

𝑥 + 1
 𝑑𝑥

∗
↔ ∫

(𝑥 + 1)(𝑥 − 4) + 6

𝑥 + 1
 𝑑𝑥 = 

* Ο αριθμητής προκύπτει από την διαίρεση πολυωνύμων 

∫
(𝑥 + 1)(𝑥 − 4) + 6

𝑥 + 1
 𝑑𝑥 = ∫ (

(𝑥 + 1)(𝑥 − 4)

𝑥 + 1
+

6

𝑥 + 1
) 𝑑𝑥

= ∫
(𝑥 + 1)(𝑥 − 4)

𝑥 + 1
𝑑𝑥 + ∫

6

𝑥 + 1
𝑑𝑥 = ∫(𝑥 − 4)𝑑𝑥 + 6 ∫

1

𝑥 + 1
𝑑𝑥

=
𝑥2

2
− 4𝑥 + 6 ln|𝑥 + 1| + 𝐶 

 

Άσκηση 12 

∫
1

𝑥2 − 1
 𝑑𝑥 

Λύση: 

1

𝑥2 − 1
=

1

(𝑥 − 1)(𝑥 + 1)
=

𝛢1

(𝑥 − 1)
+

𝛢2

(𝑥 + 1)
, ό𝜋𝜊𝜐 𝑎𝑖 ∈  ℝ 

1

(𝑥 − 1)(𝑥 + 1)
=

𝛢1

(𝑥 − 1)
+

𝛢2

(𝑥 + 1)
⇒ 1 = 𝛢1(𝑥 + 1) + 𝛢2(𝑥 − 1) ⇒ 1 = 𝑥𝛢1 + 𝛢1 + 𝑥𝛢2 − 𝛢2

⇒      1 = (𝛢1 + 𝛢2)𝑥 + (𝛢1 − 𝛢2) 

Συνεπώς: 

{
𝛢1 + 𝛢2 = 0
𝛢1 − 𝛢2 = 1

 

Ά𝜌𝛼 𝐴1 =
1

2
 𝜅𝛼𝜄 𝐴2 = −

1

2
 

Άρα: 

∫
1

𝑥2 − 1
 𝑑𝑥 = ∫ (

1
2

(𝑥 − 1)
+

−
1
2

(𝑥 + 1)
) 𝑑𝑥 = ∫ (

1

2

1

(𝑥 − 1)
−

1

2

1

(𝑥 + 1)
) 𝑑𝑥

=
1

2
∫

1

(𝑥 − 1)
𝑑𝑥 −

1

2
∫

1

(𝑥 + 1)
𝑑𝑥 =

1

2
ln |𝑥 − 1| −

1

2
ln |𝑥 + 1| + 𝐶 

 


